Find a homogeneous linear differential equation with constant coefficients

whose general solution is y = Ae' + Be' cos3f + Ce' sin 31 . Write your final answer using ', "/,
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Find the general solution of 4x2 "

+ 5y =0 on the interval (0, <) . SCORE:
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Find the general solution of 3"

+8y"+7y' +2y=0. SCORE:
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¥, =1—4xis aparticular solution of y" ~2y'~8y =32x.

[a] Using linearity, find a particular solution of "' —2y'—8y =16x.
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[b] By inspection, find a particular solution of y"'—=23'—8y=1.
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[c] Using superposition and linearity, find a particular solution of "' —2)'—8y=16x—-4.
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[d] Find the general solution of y" —2y' -8y =16x 4.
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[e] Solve the initial value problem y"' —-2y'—8y=16x-4, y(0)=-1, y'(0)=12.
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¥, =x isasolution of x*y" + x(x—2)y'+(2~-x)y =0.Find a second linearly independent solution, SCORE: /7 PTS
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